SOLUTIONS TO HW 5

Question 1

[image: image1.png]public void attempt (int level) {
Enuneration e = b.moves (level) ;
while (e.hasMoreElements()) {
Object move = e.nextElement ();
if (b.valia(level, move)) {
b.record(level, move) ;
Lf (b.done (level))
b.aisplay();
else
attempt (Levelsl);
b.undo(Level, move) ;
) // i valia
} // while
} /1 attempt
Additionally, the aisp1ay method was added to the Backtracker interface. Also, the call
on method at tempt. in Figure 7.26 had to be changed since this version does not return a

boolean.




Question  2

[image: image2.png]713 The top method is:
public int top() {
// PRE: not empty (this)
Rssert . isTrue (lempty () ;
return stack.val;
7/ POST: if this = (x1, x2, ... x), return x1
}
‘The rewritten pop is:
public int pop() {
// PRE: not empty (this)
Assert . isTrue (lempty () ;
ine relt = top();
stack = stack.next;
return stack.val;
7/ POST: if this = (x1, x2, ... ),
// veturn top() and this' = (x2, ... )




Question 3

[image: image3.png]‘The Queue class is:
class Queue {

// BEP: this = (x1, x2, ..., xN), where (...) denotes a list
7" and all insertions are to the right end
7" and all deletions are from the left end

private Node head = null;
private Node tail = null;




[image: image4.png]public void enqueue (int v) {
if (head != null) {
tail.next = new Node(v, null);
tail = tail.next;
} else {
head = new Node (v, mull);
tail = head;
}
// POST: this’ = (x1, x2, ... xN, v)
i

public int dequeue() {
// PRE: lempty ()
Assert.isTrue(lempty());
int rslt = front();
head = head.next;
return rslt;

// POST: return froat() and this’ = (x2, ..

i
public boolean empty() { return head == null;

public int fromt() {
/] PRE: lempty()
Assert.isTrue (lempty());
return head.val;
// POST: return x1

}

)




